SOUTEZ HALAS LIGY V LOGICE

60 minut / 60 minutes, 600 bodu / 600 points

INSTRUKTAZNI BOOKLET
INSTRUCTION BOOKLET

1) Ploty / Slitherlink

2) Lampy / Akari

3) Easy as / Easy As

4) Hvézdy

5) Dvoijity blok / Double Block

6) Stany / Tents

7) Slovenské soucty / Slovak Sums

8) Souctove hitori / Sum Hitori

9) Yajilin / Yajilin

10) Fillomino / Fillomino

11) Heyawake / Heyawake

12) Souctovy had / Sum Snake

13) Rybafi / Anglers

14) Country Roads / Country Roads

15) Souctové mrakodrapy / Sum Skyscrapers
16) Kbédované nurikabe / Coded Nurikabe
17) Déleni na pentomina / Pentomino Division
18) Souctova pentomina / Sum Pentominoes
19) Lodé / Battle Ships

20) SpojovacCka / Numberlink

9 bodu / points
11 bodu / points
35 bodu / points
15 bodu / points
29 bodu / points
10 bodu / points
49 bodu / points
31 bodu / points
18 bodU / points
29 bodu / points
32 bodu / points
48 bodu / points
29 bodu / points
55 bodu / points
26 bodu / points
55 bodu / points
15 bodu / points
43 bodu / points
55 bodu / points
6 bodu / points



1) Ploty 9 bodu

Nakreslete nekfizujici se uzavienou smycku, ktera je slozena pouze z vodorovnych a svislych useku
mezi teCkami. SmyCka se nesmi sama sebe dotykat ani kfizit. Cisla uvniti policek udavaji, kolik
stran daného policka je soucasti smycky.

Draw a single, non-intersecting loop that only consists of horizontal and vertical segments between
the dots. The loop can not touch itself or cross. Numbers inside a cell indicate how many of the
edges of that cell are part of the loop.
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2) Lampy 11 bodu

Do poliek zakreslete Zarovky tak, aby osvétlovaly véechna bila pole. Zarovky pfi tom sviti vodorovné a

osvétlovat. Cisla v polikach udavaji, kolik vodorovné a svisle sousedicich poli¢ek obsahuje Zarovku.

Place “lightbulbs” in some grid squares. Each lightbulb illuminates every square in each of the four compass
directions (imagine a rook in chess) up until a black cell is hit. Every grid square must be illuminated, but no
two lightbulbs may illuminate each other. A black cell with a number indicates how many of the four
surrounding cells have a light bulb.
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3) Easy as / Easy As 35 bodu

Zapiste do tabulky pismena z uvedené sady tak, aby se kazdé z nich vyskytovalo v kazdém radku
a kazdém sloupci pravé jednou. Na okrajich tabulky je pak uvedeno, které pismeno je z daného
sméru vidét jako prvni. Néktera pismena uz mohou byt v zadani vyplnéna. Néktera pole mohou byt
oznacena kfizkem, do téchto poli nesmite vepsat Zadné pismena.

Enter the letters in the given range, each letter exactly once, in all of the rows and columns. One or
more cells may remain empty in each row and column. The letters outside the grid show which letter
you come across first from that direction.
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4) Hvézdy / Starbattle 15 bodii

Umistéte do tabulky hvézdy, které maji velikost jednoho policka a nesmi se navzajem dotykat, ani
diagonalné. V kazdém radku, sloupci a zvyraznéné oblasti se nachazeji pravé dvé hvézdy).

Place exactly two stars in each row, each column and each outlined area. Stars have the size of
one cell and cannot touch each other, not even diagonally.
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5) Dvojity blok / Double Block 29 bodu

Vycernété v kazdém fadku a sloupci dvé poliCka a do zbylych poli¢ek doplrite Cisla 1-5 (v ukazkove
uloze 1-4) tak, aby kazdy Fadek a sloupec obsahoval kazdé z &isel pravé jednou. Cisla uvedena po
okrajich tabulky udavaji soucet Cisel mezi dvémi zaCernénymi policky v daném fadku i sloupci.

Shade some cells so that in each row and column exactly two cells are shaded. Then fill a number
from 1-5 (1-4 in the instruction booklet) into each of the unshaded cells so that each row and column
contains each of digits exactly once. The numbers on the outside of the grid indicate the sum of
digits placed between two shaded cells in the corresponding row or column.
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6) Stany / Tents 10 bodu

Umistéte do nékterych prazdnych poli tabulky stany, pficemz do kazdého pole Ize umistit nejvySe
jeden stan. Policka se stany se nesmi vzajemné dotykat, a to ani diagonalné. Stand musi byt v
tabulce stejny pocet jako vyznacenych stromd. Stany a stromy musi byt spojeny do dvojic tak, aby
kazdy strom mél svilj stan v jednom ze stranové sousedicich poligek. Cisla na kraji tabulky udavaji,
kolik stanu je v pfislusném fadku &i sloupci.

Place one tent horizontally or vertically next to each tree. Tents do not touch each other, not even
diagonally. The numbers outside the grid indicate the number of tents in the corresponding
row/column.
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7) Slovenské soucty / Slovak Sums 49 bodu

Do nékterych prazdnych policek umistéte jedno z Cisel 1-5 tak, aby kazdy fadek a sloupec
obsahoval kazdé z &isel pravé jednou. Néktera policka mohou ziistat prazdna. Cerna poliéka &isla
obsahovat nemohou. Cisla v 8ernych poli¢kach udavaji soudet vech &isel, ktera se nachazi ve
stranou pfilehlych polickach. Te€¢ky naznacuji, z kolika Cisel se dané soucty skladaji.

Place digits from 1 to 5 in some blank cells so that each digit appears exactly once in each row and
column. Clue numbers indicate the sum of orthogonally adjacent digits. The number of circles under
a clue number indicates the number of cells that should have a digit placed in them.
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8) Souctové hitori / Sum Hitori 31 bodii / points

ZaCernéte néktera Cisla v tabulce tak, aby zbyla Cisla tvofila stranové propojenou plochu, pficemz
nesmite zacernit dvé Cisla sousedici stranou. Zbyvajici Cisla se v kazdém fadku a v kazdém
sloupci nesmi opakovat. Cisla okolo tabulky udavaji souget hodnot zagernénych policek

v pfislusném Fadku ¢i sloupci.

Shade some fields in the grid, that in every row and every column every number appears at
maximum once. All numbers have to be connected (that is, the shaded cells may not depart the
puzzle into two or more pieces). No two black cells may be connected horizontally or vertically. The

numbers on the outside of the grid indicate the sum of shaded cells in the corresponding row or
column.
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9) Yajilin / Yajilin 18 bodui

ZaCernéte néktera pole a pak nakreslete uzavienou smycku, ktera se neprotina, sama sebe se
nedotyka a prochazi vSemi zbylymi bilymi poli. Smy¢ka musi prochazet vodorovné &i svisle pfes
stranové sousedici pole. Dvé &erna policka spolu nemohou sousedit stranou. Seda pole nemohou
byt souCasti smycCky. Pokud tato pole obsahuji Sipku s Cislem, pak toto Cislo znacCi pocet Cernych
poli, ktera se nachazeji v obrazci ve sméru Sipky.

Blacken some white cells and then draw a single closed loop (without intersections or crossings)
through all remaining white cells. Blackened cells cannot share an edge with each other. Some
cells are outlined and in gray and cannot be part of the loop. Numbered arrows in such cells
indicate the total number of blackened cells that exist in that direction in the grid.
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10) Fillomino / Fillomino 29 bodu

Rozdélte obrazec podél linii mfizky na oblasti tak, ze dvé oblasti stejné velikosti se nesméji dotykat
stranou. Uvnitf nékterych poli€ek jsou Cisla; kazdé Cislo pfedstavuje velikost oblasti, ve které toto
Cislo lezi. Kazda oblast mize obsahovat 0, 1 nebo i vice zadanych Cisel. V obrazci tedy muzou
vzniknout i “skryté oblasti” — oblasti, ve kterych neni zadné zadané dislo.

Divide the grid along the dotted lines into regions called polyominoes so that no two polyominoes
with the same area share an edge. Inside some cells are numbers; each number must represent
the area of the polyomino it belongs to. A polyomino may contain zero, one, or more of the given
numbers.
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11) Heyawake / Heyawake 32 bodu

ZacCernéte néktera poliCka tak, aby se zadné dvé Cerné policka nedotykaly stranou a vSechny bilé policka
tvofily jednu spojitou plochu stranové propojenych bilych poli¢ek. V tabulce jsou vyznaéené oblasti, rozdélené
tlustymi €arami (hranicemi). Pokud je v oblasti €islo, znamena to, Ze v dané oblasti je tolik zaternénych poli.
KaZzda skupina za sebou leZicich bilych poli¢ek ve vodorovném i svislém sméru nesmi vést pfes vice nez
jednu hranici.

Paint some cells black. Black cells are not allowed to touch eachother on the sides. The remaining white area
has to be connected. The white area can't span over two consecutive boundaries in a single row or column.
The numbers in the rooms indicate how many cells are to be painted black.

12) Souctovy had / Sum Snake 48 bodu

Vyznacte v tabulce hada. Had ma Sifku jednoho policka a od zacatku do konce je propojen pres stranou
sousedici policka. Jedno poli¢ko nesmi navstivit dvakrat. Sam sebe se nedotyka, a to ani diagonalné. Policka
vyznadena pismenem X had navstivit nesmi. Cisla na okraji fadku udavaji souget sloupct, ve kterych se
v pfislusném fadku nachazi had (1. sloupec zleva ma hodnotu 1, 2. sloupec zleva méa hodnotu 2, atd.). Cisla
na okraji sloupct udavaiji soucet fadkd, ve kterych se v pfislusném sloupci nachazi had (1. fadek shora ma
hodnotu 1, 2. Fadek shora ma hodnotu 2, atd.).

Draw a snake in the grid. The snake is one cell wide. The whole snake consists of orthogonally adjacent
cells. Each cell can be visited by the snake at most once. The snake can not touch itself, not even
diagonally. Cells marked with letter X can not be visited by the snake. The numbers on the outside of the
rows indicate the sum of columns visited by the snake in the corresponding row (1st column from the left
has value 1, 2nd column from the left has value 2, etc.). The numbers on the outside of the columns
indicate the sum of rows visited by the snake in the corresponding column (1st row from the left has value
1, 2nd row from the left has value 2, etc.).
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13) Rybafri / Anglers 29 bodu

Cisla vné tabulky pfedstavuiji rybare. Do tabulky zakreslete rybaiské vlasce tak, aby od kazdého
rybare vychazel jeden. Vlasce prochazeji vzdy vodorovné nebo svisle stfedem poliCka a kazdy
vlasec koné&i u ryby. Kazdé ryb& musi byt pfitazen pravé jeden vlasec. Cisla udavaji poget policek
obsazenych vlascem, a to v€etné polic¢ka s rybou. Kazdym poliCkem muize prochazet maximalné
jeden viasec. Néktera policka mohou zustat volna.

The digits on the outside represent anglers. Each angler catches one fish. The digit indicates the
length of their line. The lines run by connecting the centers of cells horizontally and vertically. They
don't touch or cross eachother.
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14) Country roads / Country Roads 55 bodl

Zakreslete do tabulky uzavienou smycku spojujici vodorovné a svisle stfedy poliCek, ktera se
sama sebe nedotyka ani nekfizuje. Kazdou ohraniCenou oblast navstivi pravé jednou. Dvé
sousedni poli¢ka, ktera se nachazi kazdé v jiném regionu, nesmi zlstat prazdna (smycka musi
prochazet alespori jednim z nich). Cisla v tabulce udavaji, kolika policky smycka v daném regionu
prochazi.

Draw a single non-intersecting loop in the grid that enters and exits each bold region exactly once.
If a number clue is given in a region, that number indicates the exact number of cells used by the
loop in the region. Unused cells cannot be orthogonally adjacent across different regions.
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15) Souctové mrakodrapy / Sum Skyscrapers 26 bodli

Do kazdého policka vlozte jedno z Cisel 1 az 6 tak, aby se Cisla v fadcich a sloupcich neopakovala.
Cisla predstavuji mrakodrapy riiznych vysek (hodnota policka znamena podet pater). Cisla okolo
tabulky udavaji soucet viditelnych mrakodrapld z daného sméru, pfi¢emz niz§i mrakodrapy jsou
skryty za vysSimi.

Fill a digit form 1-6 into each empty cell so that each digit appears exactly once in each row and
column. Numbers in the grid represent skyscrapers of various height (the value in a cell represents
the number of floors). The numbers on the outside of the grid indicate the sum of visible skyscrapers
in the corresponding row or column. Taller buildings block the view of smaller buildings.
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16) Kédované nurikabe / Coded Nurikabe 55 bodii

ZacCernéte néktera policka tabulky tak, aby v ni zbyly nezaCernéné oblasti, z nichz kazda takova oblast
obsahuje pravé jedno Cislo rovnajici se celkovému poctu poli¢ek, které spolu sousedi stranou. VSechna
zaCernéna pole tvofi v tabulce jednu stranové propojenou oblast, v které se ale nesmi objevit ¢tverec o
2x2 polich, ktery by byl cely zaCernény. Néktera policka jsou jiz zaCernéna. Néktera Cisla jsou zakédovana
pismenem. Stejna pismena maji stejnou hodnotu, rizna pismena maji riznou hodnotu. Kédovana pismena
nemohou mit hodnotu jiz zadaného ¢Cisla.

Shade some empty cells black so that the grid is divided into white areas, each containing exactly one number
and with the same area in cells as that number. Two white areas may only touch diagonally. All black cells
must be connected with each other, but no 2x2 group of cells can be entirely shaded black. Some cells are
already blackened. Some

numbers are coded by letter. 6 3
The same letters represent
the same number. Different
letters represent different
numbers. Coded letters can B
not have the same value as
already given numbers. C A




17) Déleni na pentomina / Pentomino Division

Rozdélte zadany obrazec na 12 rlznych pentomin. Pentomina je
mozné otacet a preklapét. Kompletni sada pentomin je pfilozena
k tabulce.

Divide the grid into 12 different pentominoes. Rotation and
reflection is allowed. The complete set of pentominoes is given.

18) Pentomina se soucty / Sum Pentominoes

na kterych se dané pentomino nachazi.

Dividet the grid into 12 different pentominoes (4 tetrominoes in the sample puzzle). Rotation and

15 bodu
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43 bodu

Rozdélte zadany obrazec na 12 rGznych pentomin (4 tetromina v ukazkové uloze). Pentomina je
mozné otacet a preklapét. U kazdého pentomina je uveden soucet, ktery odpovida souctu policek,

reflection is allowed. A sum is given for each pentomino. That sum must equal the sum of cells

where the pentomino is placed.
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19) Lodé / Battle Ships 55 bodii

Nakreslete do tabulky vyobrazenou namofini flotilu. Kazdy segment lodé zaplni jedno polic¢ko. Lodé Ize jakkoli
otadet, pfitemz se zadné dvé lodé nedotykaiji, a to ani ronem. Cisla vlevo a nahote od okraje tabulky oznaduji
pocet policek v daném fadku &i sloupci obsazenych lodémi. Pokud se toto Cislo nachazi na spojnici dvou
Fadka &i sloupcd, pak je toto &islo soustem poli¢ek obsazenych lodémi v obou Fadcich &i sloupcich. Cisla
vpravo a dole od okraje tabulky oznacuji poCet poli¢ek obsazenych lodémi na vyznacené diagonale. Policka
oznacena symbolem vody lodé obsahovat nemohou.

Place the given fleet of battle ships into the grid. Each segment of ship fills one cell. Battle ships can be
rotated or reflected. Battle ships can not touch each other, not even by corner. Numbers on the left and the
top of the grid indicate how many cells are occupied by battleships in the corresponding row or columns. If
the number is located between two rows or column then this number is the sum of ship segments in both
rows or columns. Numbers on the right and the bottom of the grid indicate how many cells are occupied by
battleships on indicated diagonal. Cells marked with water can not contain ship segments.
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20) Spojovacka / Numberlink 6 bodu

Spojte kazdou dvojici stejnych pismen Carou tak, ze ara muze prochazet pouze stfedy stranou sousedicich
poli¢ek. Kazdé policko mlze byt navstiveno nejvySe jednou ¢arou, a to navic nejvyse jedenkrat. V tabulce
se mohou vyskytovat i poli¢ka, kterymi Cara neprochazi.

Connect each pair of identical letters with a path passing through edge-adjacent cells. No cell may be used
on more than one path.
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